EC3102/5155: ANALOG CIRCLVITS
‘T(/TORIAL — &

Problen |
v For Ty ?wu&w\.’ boyth Frang s are, I‘olen,-)lﬁ'cﬂl,

bdl"h\ W’ 0'5_\/, /\:D / /“acﬂlz-"‘[ - S'ap/,‘A/vz

—)

VA (\v;b I—-P Ry
Ria

—”\L 7m;esc¢n¥' au./renﬁ ﬂrvbvk bv“h\. ’}‘VMSI'SJ'NS oare,
Civml' Dei’efw\;‘ug Rx,vss/ 12, 4 R,_ So huwt

L‘“) V.. CGan be Oou.Ple_aL wiﬁ\ou't’ usrrz C;
(5> Rin = | ML
CC) v_°.°"b-_ = 2 p o.-)“:w &Cuu.nJ'\'hZ -ﬂrf —)&y\_;-‘e " ()_ "h'ﬂ_

Vn ‘L‘Wﬁk"'ﬁ’.‘-
AP der ale_{-um;v\.',z He Values qbwe, Find.
"]’ke. c}w{c.Cca‘JJ voH-vae 4’ hw{e_ >’ M#L‘, WOy M U )
Sl Soided Am}alt'm One Can WSe aF fue L'r\/Duf’ $b et


Ani
Rectangle

Ani
Rectangle

Ani
Pencil

Ani
Pencil

Ani
Pencil

Ani
Pencil

Ani
Pencil

Ani
Pencil

Ani
Pencil

Ani
Pencil

Ani
Pencil

Ani
Pencil


the ou{'Ful’ is wot  dishoried:

Nwal on E,\ﬁ-,\;h_ ufaoi%r (S (oanected —pﬂ'M\ node Z
i aWu-vJ.- What" | VWyub  now 2

Iin
Proboleen 2 N
V'DD
+
ZSO/AA + IJ
‘ o
Rin 4ok 40K )l’ ) Y,

mL r T Rour = 20K

| ]
‘ '
? (5 _
Vv, o W = 5 A/ 2
b Ij ﬂ'\&’& —L-. n/‘ /\/
\/7-: D5V

A=0
f‘\) DG'LWW'A.Q_ ’h«e 7¢M'¢.sun7l’ cw'rwl’ tz— M.

09') ACSMWH'? /‘W(je .g"", NL.# 244)\ afa ynu exreci‘ -ﬁ'm—v\
Vin fo Bt 2 Nhat 1€ Fue achal 0‘;"?

Cf') De'[’uw\fv\e +L\e L'V\J?ui' &' OM(TW{ L'M,’;ettancu Rllv\ & 29“{'—.

M‘) De{gym.',\e_ 1—’ So M 'h«& au‘i?wt' Sinnsord st
C[»'FS ok brhh  extremes dv o zk/:un" awfu-}jw(e_ 5f

1V, Fr Al rwij Sfume. fu is Ve Ia—gc.

A (nlnte ok 1S n Cennocked behiten e
node. movked X aad Znuml- Determine e
l:V\wew%M ?a«'y\ -,Evvw\ U; to Wt

Cé)


Ani
Rectangle

Ani
Rectangle

Ani
Rectangle

Ani
Pencil

Ani
Pencil


The Civemit above s Hhe  (atremental e?/w'\/ale«f’
ﬁb- om, ULMFL\:AW- The +rang'stove hove
trams tonductomces dens ted bf /%\-

(_a) Dz'l’&/m.'ne_ —/7,& Lvnwa, L'M/)coQ&-v\Ce @ /:.a\/l’l.
phen Fm/l— 2 s ghotted

(.[0) De'l’l‘/wu'ne ‘h\e_ OLML’?IA.[' CIM}?EJMCE @ fux/FZ.
Shem Fe./b 1 s Sharkd:

() Wat kld g Contrlled sowne 5 Hiuy 2

W) 4 s, dehimine te tash
Junchim gt wlove tonfrllek Gpunce.


Ani
Rectangle

Ani
Pencil


Ra’:uj: fhe Tve_vfws /)vuu%n 1w The

LN exemental  clven) F shown above.

—

¥ T
20K ok s

Sl



Ani
Rectangle

Ani
Pencil

Ani
Rectangle

Ani
Pencil


4.,\ +He Urewt olbove
(8) Fd e oj,w.J—uAZ point

Uo> The L'V\(,YQW\%M ?m:w ’UN\{'/-@;.

P , Ze Determing  fre ij\s o Ane 0/7'*-»7:5'4(
'V\q,ap\“:f\/\'y -ft.ei ng{i 0FM‘LNM
| Vho
V; '—>_( UD>

@) - ,_L



Ani
Rectangle

Ani
Pencil


*
v
D olole” oV
antt:
)l

20K AI- DI_—u-Uwr
ML alr |
I 4 ek "
e
— L |
SV |
20K, T_m

o :
C) De/{’&/v‘w'% ’h\e_ ;;'21,\5 (o)) ‘f’ke O)DOW\P -pr/
V\eﬁm‘w& Peed bock a/;Wa-A'm
-L .
( ) DL‘}'E/WUM. 1Lke ;wc‘ucwf /’)b‘)‘“’-‘rl/\'lt\ai @ e
5;,,& i ML
) Wt 15 Fne  (ncremental je«'n Uhik 7
—; '


Ani
Rectangle

Ani
Pencil


8) The opamp in the circuit shown below is

ideal. Determine Rin.
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Circuit for Problem 8

9) In the circuit shown below, the input voltage
V, = 5V + 21 cos(21t(1kHz)'t); Determine V.
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The capacitor is very large.
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Circuit for Problem 9

10) In the circuit shown in the figure below, the
capacitors (Ciage) may be assumed to be infinite.
(a) Determine the input impedance Z;, and the
output impedance Z,,..
(b) Determine the overall small-signal voltage
gain v,,/v, for this amplifier.

Circuit for Problem 10



